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WEST BENGAL STATE UNIVERSITY 

B.A. Honours 1st Semester Supplementary Examination, 2021  

PHIACOR02T-PHILOSOPHY (CC2) 

WESTERN LOGIC-I 
Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

All symbols are of usual significance. 

 GROUP-A 
1. Answer any five questions from the following: 

িনmিলিখত েয-েকােনা পাঁচিট  pেűর উtর দাওঃ 
2×5 = 10

(a) What is propositional form? Give an example.
বচন-আকার বলেত কী েবােঝা ? একিট উদাহরণ দাও।  

(b) What is a null class? Give an example. 
শূনয্ েËণী বলেত কী েবােঝা ? উদাহরণ দাও। 

(c) Give an example of an argument and an argument form. 
একিট যুিk এবং একিট যুিk আকােরর উদাহরণ দাও। 

(d) What is material implication? 
বstগত pপিt বলেত কী েবােঝা ? 

(e) What is self-contradictory statement form? Write with example. 
sতঃিমথয্া বাকয্াকার বলেত কী েবােঝা ? উদাহরণ সহেযােগ উtর দাও। 

(f) Give logical equivalence of the proposition A ¬ B in terms of ‘˅’ and ‘~’. 

A ¬ B –এই বচেনর েযৗিkক সমমান বচন দাও ‘˅’ এবং ‘~’ dারা। 

(g) Why is the truth tree method called a decision procedure? 
সতয্শাখী পdিতেক েকন িনণর্য় পdিত বলা হয় ? 

(h) Put ‘√ ’ mark on the right answer. 
সিঠক উtের ‘√ ’িচh দাও। 
If Tqp  º , then the truth value of the statement form qqp ~)( �¬ is FT / .  

যিদ  Tqp  º  হয়, তাহেল qqp ~)( �¬ বাকয্াকারিটর সতয্মূলয্ হেব FT / . 

(i) Symbolize the following: 
pতীকািয়ত কেরাঃ 
(i) p if q 
 p যিদ q 
(ii) p is the sufficient condition of q. 
 P,  q এর পযর্াp শতর্। 
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(j) What are the differences between material equivalence and logical equivalence? 
বstগত সমাথর্তা এবং েযৗিkক সমাথর্তা-র মেধয্ pেভদ েদখাও। 

  
2. Answer any two questions from the following: 

িনmিলিখত েয-েকােনা dিট  pেűর উtর দাওঃ  
5×2 = 10

(a) What are the differences between exclusive disjunction and inclusive disjunction? 
িবসংবাদী এবং অিবসংবাদী ‘অথবা’-র পাথর্কয্ েদখাও। 

(b) What is a counter example? Explain with example. 
বাধক দৃŶাn কী ? উদাহরণ সহেযােগ বয্াখয্া কেরা। 

(c) Why is the mood ‘AAI’ invalid? Write the answer according to the Boolean 
interpretation.   
‘AAI’ মূিতর্িট েকন অৈবধ ? বুলীয় মতানুসাের উtর দাও। 

(d) Write the rules of testing statement as tautology / contingent / self-contradictory 
by truth tree method. 
একিট বচনেক sতঃসতয্ / আপিতক / sতঃিমথয্াrেপ িনrপণ করার সতয্শাখী পdিতর িনয়মgিল 
উেlখ কেরা। 

  
 GROUP-B 

 Answer any two  questions from the following 
িনmিলিখত �য-�কােনা dিট  pেűর উtর দাও 

15×2 = 30

3. (a) Test the validity of the following arguments by Venn diagram. 
িনmিলিখত যিুkgিলর েভনিচেtর সাহােযয্ ৈবধতা িবচার কেরা। 
(i) All worldly things are transitory, because no worldly thing is non-material, 

and no material object is non-transitory. 
 সব পািথর্ব সmদ পিরবতর্নশীল, কারণ েকানও পািথর্ব সmদ অ-জড় নয় এবং েকানও জড় পদাথর্  

অ-পিরবতর্নশীল নয়। 
(ii) All bridge players are people. All people are thinking-being, so all bridge 

players are thinking being.  
 সকল bীজ েখেলায়াড়ই মানুষ। সব মানুষই িচnাশীল। সুতরাং সব bীজ েখেলায়াড়ই িচnাশীল। 

5+5

(b) (i) Determine whether the following statement form is tautologous, 
self-contradictory or contingent by means of truth table. 

 সতয্সারণীর সাহােযয্ িনেmাk বাকয্াকারিট sতঃসতয্, sতঃিমথয্া না আপিতক তা িনণর্য় কেরাঃ 
 ])([)]()[( rqprpqp º½�½º½  

2 2
1

 (ii) Use truth table to determine the validity of the following argument. 
 সতয্সারণীর সাহােযয্ িনেmাk যুিkিটর ৈবধতা িবচার কেরা। 
 TSR ¬½ )(  
 )( SRT º¬  
 )()( SRSR ½¬º?  

2 2
1

  
4.  (a) Use the truth tree method to determine whether the following statements are 

consistent. 
সতয্শাখী পdিতর সাহােযয্ িনেmাk বাকয্gিলর মেধয্ সংগিত আেছ িকনা িনণর্য় কেরা। 
(i) CAACBCA ––,–,, ���  
(ii) ABABA ,, �½  � B–   

3+3



CBCS/B.A./Hons./1st Sem./PHIACOR02T/2021 

1074 3  Turn Over 

(b) Determine whether the following statements are tautologous or not by using truth 
tree method: 
সতয্শাখী পdিতর dারা নীেচর বাকয্gিল sতঃসতয্ িকনা েদখাওঃ 
(i) )]()[()]([ CABACBA ������  
(ii) )]&(–)&([–)( PRRQQP ���  

3+3

(c) How can the truth tree method be used to test consistency? 
সতয্শাখী পdিতর সাহােযয্ িকভােব সংগিত িনণর্য় করা যায় েদখাও। 

3

  
5. Construct formal proof of validity of the following arguments (any three) (Do not 

use PC º and PI º ) 
িনেmাk যুিkgিলর আকারগত ৈবধতার pমাণ দাও।(েয েকােনা িতনিট )( PC º  বা PI º  বয্বহার 
করা যােব না) 
(i) )(~ KJJ º½  
 JJLLJ �º?¬ )(/  
(ii) )()( AAZZ ¬¬¬  
 AAZZAA ¬?¬¬¬ /)()(  
(iii) )( VUT º¬  
 WTWVU ¬?¬½ /)(  
(iv) If either Socrates was happily married or else he wasn’t, then Socrates was a 

great Philosopher. Therefore, Socrates was a great philosopher.  
 যিদ এমন হয় েয, হয় সেkিটেসর িববািহত জীবন সুেখর িছল অথবা িছল না, তাহেল সেkিটস 

একজন মহান দাশর্িনক িছেলন। অতএব, সেkিটস একজন মহান দাশর্িনক িছেলন।  

5×3=15

  
6. (a) Explain the method of Indirect Proof as a method of proving argument 

যুিkর pমাণ পdিতrেপ পেরাk pমাণ পdিত বয্াখয্া কেরা। 
3

 (b) Prove the validity of the following argument by C.P.: 
C.P.-এর সাহােযয্ িনেmাk যুিkিটর ৈবধতা িবচার কেরাঃ 
 )()(/, DBCADCBA ½¬½?¬¬  

4

(c) Prove the invalidity of the following argument by the method of assigning truth 
value. 
সতয্মূলয্ আেরাপ পdিতর সাহােযয্ িনেmাk যুিkিটর অৈবধতা pমাণ কেরা। 
 AZYX ¬ºº ])[(  
 )()( CBAZ ¬¬¬  
 CXB ¬?/  

4

(d) Prove the validity of the following argument by I.P. 
I.P. িনয়েমর সাহােযয্ িনেmাk যুিkিটর ৈবধতা pমাণ কেরা। 

 )( YZD ¬¬  
 ZDZYZ ~~/)~( ½?¬¬  

4

 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 
  to their own respective colleges on the same day / date of examination within 1 hour 
  after end of exam. University / College authorities will not be held responsible for wrong 
  submission (at in proper address). Students are strongly advised not to submit multiple 
  copies of the same answer script. 
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